PΙ	٨	NT	FN	$\mathbf{r}\mathbf{r}\mathbf{p}$	PR	PICEC	PRO	\mathbf{DH}	CTION	
	А	\mathbf{I}	ועו	וועו ו			1111	יוועוי		

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
COTTON						
Lint - Non-irrigated		3,088.0	785.00	2,424,080	lbs.	\$1,333,244
Seed - Non-irrigated		3,088.0	1,256.00	3,878,528		\$193,926
Cotton (Total)	17	3,088.0	,	, ,		\$1,527,170
FORESTRY		- ,				
Pulpwood						
Pine				94,644	cords	
Hardwood				21,626	cords	
Pulpwood (Total)				116,270		
Chip & Saw				11,839	cords	
Saw Timber						
Pine				25,135,647	board feet	
Hardwood				2,283,730	board feet	
Saw Timber (Total)				27,419,377		
Total Pulpwood, Chip & Saw	ν,					\$21,724,388
Saw Timber FOB Mill						
Total Forestry Stumpage						\$12,691,154
Forestry (Total)						\$21,724,388
FRUITS						
Blueberries	7	11.0	1,810.00	19,910	lbs.	\$24,888
Mayhaws						
Native	20	120.0	25.00	3,000	lbs.	\$3,000
Orchard	20	65.0	670.00	43,550	lbs.	\$65,325
Mayhaws (Total)		185.0				\$68,325
Peaches	*	20.0	50.00	1,000	bu.	\$30,000
Fruits (Total)		216.0				\$123,213
FEED GRAINS						
Corn	20	1,189.0	120.00	142,680	bu.	\$323,884

PΙ	٨	NT	FN	$\mathbf{r}\mathbf{r}\mathbf{p}$	PR	PICEC	PRO	\mathbf{DH}	CTION	
	А	\mathbf{I}	ועו	וועו ו			1111	יוועוי		

Cron	Number of	A 2#22	Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FEED GRAINS						
Grain Sorghum	20	1,241.0	60.00	74,460		\$268,801
Oats	*	211.0	60.00	12,660	bu.	\$21,775
Feed Grains (Total)		2,641.0				\$614,459
HAY FOR SALE						
Grass	40	500.0	1.50	750	tons	\$37,500
Hay for Sale (Total)		500.0				\$37,500
HOME GARDENS	2,800					\$840,000
PECANS						
Improved	25	270.0	400.00	108,000	lbs.	\$140,400
Native	15	450.0	300.00	135,000	lbs.	\$135,000
Pecans (Total)		720.0				\$275,400
SOYBEANS	20	6,469.0	45.00	291,105	bu.	\$1,807,762
SWEET POTATOES						
Canning				5,250		\$10,500
Fresh				9,750		\$136,500
Sweet Potatoes (Total)	*	50.0	300.00	15,000	bu. (50 lbs.)	\$147,000
VEGETABLES						
Mustard (Fresh)	*	4.5	400.00	1,800	doz. bunches	\$12,600
Okra (Fresh)	*	4.0	300.00	1,200	bu.	\$30,000
Snap Beans (Fresh)	*	4.0	80.00	320	bu. (30 lbs.)	\$8,000
Southern Peas (Fresh)	30	4.0	80.00	320	bu. (24 lbs.)	\$8,000
Squash (Fresh)						
Yellow Squash	*	3.0	150.00	450	bu. (45 lbs.)	\$6,750
Squash (Fresh) (Total)		3.0				\$6,750
Sweet Corn (Fresh)	8	12.0	500.00	6,000	doz. ears	\$21,000
Tomatoes (Field)	10	8.0	900.00	7,200	lugs (20 lbs.)	\$129,600
Turnips (Fresh)	50	8.0	200.00		doz. bunches	\$11,200

PI.	ANT	FNTFR	PRISES	PRODUC	TION

Crop	Number of Producers	Acres	Yield per Acre	Total Units of Production Measure	Gross Farm Value
Vegetables (Total)		47.5			\$227,150
WHEAT	*	1,871.0	40.00	74,840 bu.	\$243,230
TOTAL ALL PLANT ENTE	ERPRISES	,			\$27,567,272

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS				265	pelts	\$1,945
ALLIGATORS (WILD)				135	ft.	\$2,835
HUNTING LEASES						
All Other Game	70	182,000	No. Acres Leased		acre	\$1,001,000
Hunting Leases (Total)						\$1,001,000
HONEY	*	475	No. Hives	39,250	lbs.	\$29,045
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES					\$1,034,825

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,085	head	\$480,536
400-500 lbs.			590	head	\$297,838
500-600 lbs.			195	head	\$109,020
600-700 lbs.			100	head	\$63,700
Steer Calves (Total)					\$951,093

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Heifer Calves					
300-400 lbs.			984	head	\$396,714
400-500 lbs.			490	head	\$227,887
500-600 lbs.			295	head	\$155,711
600-700 lbs.			200	head	\$119,600
Heifer Calves (Total)					\$899,912
Yearling Cattle					
600-700 lbs.				head	\$318,500
700-800 lbs.			150	head	\$103,500
Yearling Cattle (Total)					\$422,000
Cow-Calf Pairs			220	pair	\$209,000
Cull Cows			550	head	\$225,849
Cull Bulls			25	head	\$22,961
Cattle & Calves (Total)	180	5,400 No. Cows	3		\$2,730,816
HORSES					
Brood Mares					
Race Horses	*	120 No. Brood		head	\$640,000
Show Horses	25	100 No. Brood		head	\$210,000
Recreation Horses	10	40 No. Brood	d Mares 25	head	\$37,500
Brood Mares (Total)					\$887,500
Stud Fees					
Race Horses		3 No. Stalli		mares bred	\$150,000
Show Horses		5 No. Stalli	ons 25	mares bred	\$37,500
Stud Fees (Total)					\$187,500
Race Horses	*			head	\$200,000
Show Horses	50			head	\$800,000
Recreation Horses	150		500	head	\$750,000

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Horses (Total)					\$2,825,000
RABBITS					
Fryers	7	70 No. Animals	6,720	lbs.	\$5,376
Does	7	70 No. Animals	6,720	lbs.	\$1,008
Rabbits (Total)					\$6,384
GOATS					
Show Goats			30	head	\$5,550
Slaughter Goats			345	head	\$36,225
Stocker Goats			75	head	\$6,375
Cull Goats			40	head	\$2,400
Goats (Total)	15	300 No. Does			\$50,550
SWINE					
Show Pigs			20	head	\$6,600
Feeder Pigs			400	head	\$18,400
Slaughter Hogs			175	head	\$27,300
Culls			15	head	\$1,680
Swine (Total)	6	40 No. Sows			\$53,980
TOTAL ALL ANIMAL E	NTERPRISES				\$5,666,730
GRANT PARISH TOT	TAL				\$34,268,828